'De

DOPe

Exponentes negativos de 10

Nombre:

100D =
433,9+100Y =
796, 1+ 100D =
873,1x 100D =
1002 =
6x 10 =
1003 =
100D =
4%10=

100D =

Fecha: Puntuacion:

103 =
527,2 x 1073 =
-3 x10° =
177,7 x 107 =
100D =

1004 =

7x10% =

762,9 x 1001 =
664,7 x 1001 =

103 =
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' ‘ Exponentes negativos de 10

Nombre: Fecha: Puntuacion:
1077 =0.1 107 = 0.001
433,9+ 107 = 4339000 527,2 % 1072 = 0.5272
796, 1+ 10" = 7961 —3x 10" = -3
873,1x 107" =87.31 177,7 x 1072 = 0.1777
1072 = 0.01 1077 = 0.1
6 x 10 = 60 107 = 0.0001
107 = 0.001 7 % 10> = 700
1077 = 0.1 762,9 x 1079 = 76.29
4% 10 = 40 664,7 x 107 = 66.47
1077 = 0.1 107 = 0.001
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